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20 (a) Show the inequality —2 < x <3 on the number line below.

2
(b) Solve the inequality 4y +7 <16

2

(Total for Question 20 is 4 marks)
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16 Solve 3x-+4 < 19.
‘Show your solution on the number line.
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6 Write down the inequality shown on this number line.
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16 Solve 3x+4 < 19,
‘Show your solution on the number line.
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19 Solve 3x—53 10
‘Show your solution on the number line.
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7

(@) Show the inequality x > 3 on this number fne

(b) simpity.

4a+30+7a-5c
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12 (a) Muliply out

4c(d-5)

(a) 2
(b) Multiply out and simpiiy.
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4 (a) Use one of these symbols <, >or = to make each statement true.
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(iii) 6

(b) Write down the inequality for x that is shown on this number line.
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18 (a) () Solve.
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(1) Write down the largest integer that satisfies 5x — 1 < 10.

(© sohe.

ax+3y=5
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xis an integer.
“4<x<2
and
2<x+3<9

‘Work out all the possible values of .
[3 marks]





image14.png
xis a positive integer.
35+ is a positive integer.

Work out the four possible values of x.

[2 marks]
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Solve

8>3-1c
2

[2 marks]
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Solve  5(r+3)<60

[2 marks]
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31 (a) Factorise  x* - 100
[1 mark]

31 (b) Sove  Tx+6>1+2x
[2 marks]
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18

xis greater than 5 and less than or equal to 9
Circle the inequality that shows this.

5<x<9 5>x>9

5<x>9

5<x<9

[1 mark]
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How are the whole number solutions to A and B different?
A Sobe 3<3r<18

B Sobe 3<3r<is

[2marks)
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Sove  Sv-2>are
[2marks]
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20 (a) Solve 14n > 1ln+6

(b) On the number line below, show the set of values of x for which 2 < x+3 <4,

T
% 5 4 3 2 -1 0 1 2 3 4 5 6 ¥

3

(Total for Question 20 is 5 marks)
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19 (a) On the number line, show the inequality x <4

3<y<7 whereyis an integer.
(b) Write down all the possible values of y.
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(¢) Solve 3x+5>x+17

3)

(Total for Question 19 is 7 marks)





